Swan-Ganz Catheter Equations
02 Tension-Based Indices

A-a Gradient — Normal <20 mmHg
A-a Gradient = (150 - 1.1¥PaCO,) - Pa0;

Intrapulmonary Shunt — Normal <5%

Q._ = Cc0; = Ca0,
Qt = CcO;-CvO;

CcO; = (1.36%Hb*1) + (P, 02%0.003) P,O, = (150 - 1.1¥PaCO5)
Ca0; = (1.36*Hb*Sa0,) + (Pa0,%0.003)
CvO, = (1.36*Hb*SvO,) + (Pv0,*0.003)

VQ Index — Normal <5%

VQI = 1-Sa0,
I-SVOz

Svstemic Oxygen Delivery (DO») — Normal = 1000 ml/min/m’

DO, = CO*Ca0,*10

Svstemic Oxygen Consumption (VO,) - Normal 100-125 ml/min/m’

VO, = (CO*Ca0,) - (CO*CvO0,)
= CO(Ca0,-Cv0y)
= CO*Hb*13.8%(Sa0,-Sv0,)
L\

A-V O, Difference - Normai 5vol %

A-V O, Difference = Ca0,-CvO,

Oxvgen Extraction Ratio — Normal 22-30%

OER = Ca0,-CvO, * 100
CaO:

Oxygen Extraction Index — Normal 22-30%

OEI = Sa0,-SvO; * 100
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